41 sqft | 28 saft [ 23 ft? SIGN INSTALLER 1. Verify (ft?) (flush, raceway, or pin) (solid area or letters) MARK DISOSWAY. PE
Flush Flush Flush 2. Select fastener for wall structure. H H % H 163 SW Midtown PI, Ste 103
i i i (Letters) | (Letters) | (Letters) INSTRUCTIONS 3. Evenly space fasteners over whole sign area. Sl g nen g ineerin g@g mal I .com Lake City, Florida 32025
386-754-5419
USE MORE FASTENERS IF THE SIGN NEEDS IT! ONLY ATTACH TO STRUCTURAL WALL M . >E
oy recre more fotoners. Example: ey nood 2 fastaners. 1 4, 14 -5 nd 115 rick pastemay noednore | Florida, FBC 7th Ed (2020), Sect 1609 ['*fASCET-18 FLPE53915
fasteners to avoid bending. Follow sign rer's i ions and code requi for of fasteners. At least put one in wind THIS FDF HAS DIGITAL SIGNATURE
leach corner top and bottom. Follow fastener manufacturer's instructions and code requirements for installation. AND ELECTROMIC SEAL. PRINTED
a ~ — I |Risk Category g,sl:eorr‘:?aelll Z;Z:rrde:)chugr::ir;;llfe, 1ll, Substantial hazard to human life; IV, COPIES ARE NOT CONSIDERED
S = CALCULATION: Minimum Number of Fasteners onLE, SMeTgency. : : SR ETEN ASRE BT IERTT
ﬁ x £ Evenly S d0 Whole Si 120 |Wind Speed Bgslc Wind Spged, Ultimate, mph, from ASCE 7-16, Fig 26.5-1A, Risk II; or| SR a
T s s y Spaced Over VWWhole sign Fig.26.5-1B, Risk Ill & IV CLICK HERE TO VERIFY.
v [7) = ( Fasteners = Wind Force on Whole Sign Area / Fastener Allowable Tension ) ¢ |Exposure Wind Exposure; C, House size obstructions for > 600 ft; D, no obstructions
Minimum FaSter,‘e'_'s for Whole Sign Fastener Wall Structure | Pull Fastener Installation >_5OOO - - -
(Use More if Sign Needs It) 30 |Sign Height Sign Height Abovg Ground, ft, H; Sign cannot be higher than top of wall or
4 4 3/8" or 1/2" ThruBolt [Structural Wall 200 |3/8" or 1/2" bolt, nut, washer thru wall; CMU, brick, concrete, 2x4 or unistrut backer 60'. For multiple signs use worst case.
6 1 5 3/8" or 1/2" ThruBolt |Wood Sheathing 100 [3/8" or 1/2" bolt, nut, and washer thru 1/2" OSB or plywood sheathing See Si A Gross Sign Area, ft?, means the overall area surrounding and including all
4 1 4 3/8" Lag Shield Concrete 200 |3/8" - 16 screw in hole, tap anchor flush. Table ign Area sign letters and logos. LU
11 1 10 [3/8" Lag Shield Grout Filled CMU 50 |3/8" - 16 screw in hole, tap anchor flush. WIND LOAD CALC: ASCE 7-16, Section 29.4.2, Solid Attached Signs 5/13/2022
4 1 4 [1/4" Tapcon Concrete 171 [1/4" Tapcon, min 1.5" embedment, protect from moisture. Components & Cladding wind pressure on solid sign attached flat against wall or parallel to wall, < 3’ from This seal for structural engineering per
26 3 24  [1/4" Tapcon Grout Filled CMU | 21 [1/4" Tapcon, min 1.25" embedment, protect from moisture. surface and > 3’ from edge, equals wall wind pressure from ASCE 7-16, Section 30.4. scope of work (Fasteners only)
7 1 6 [#12 Metal Screw 20ga CFS Frame 83 [#12-14 Self-drilling screws 3 threads thru 20ga steel frame. See Table |Wind Force on Sign; F = P,sp * Net Sign Area SCOPE OF WORK
14 1 13 [#12 Wood Screw  |5/8" Plywood 40 [#12-14 wood screw or SMS into 5/8" OSB or plywood. -26|psf [Wind Pressure; Pasp = Pult* 0.6 per ASCE 7-16 section 2.4.1 JENGINEERING: Calculation of minimum
4 12 4 Timber Screw Wood Framing 170 |FastenMaster TimberLOK, 1/4" thread wood screw 1.25" in wood -44|psf [Wind Pressure; Py = gy, "GCy; C&C, ASCE 7-16, Eq 30.3-1 |fasteners, ONLY. (See equation)
6 12 5  [3/8" Toggle Bolt Hollow CMU 100 |3/8" Toggler - Snaptoggle BC, toggle anchor - into hollow CMU 31[psf [Velocity Pressure; g, = 0.00256*K,"K,"K*V2,;  ASCE 7-16, Eq 26.10-1
11 15 10 [3/8" Toggle Bolt  |5/8" plywood 50 |3/8" Toggler - Snaptoggle BC, toggle anchor - into 5/8" plywood 0.98 Veloc Pres Expos Coeff; K,=2.01*(H/900)"(2/9.5)ExpC, (700&11.5)ExpD; _ ASCE 7-16, Table 26.10-1 This seal IS NOT: architecture, electric, or
11 1 10 [1/4" Toggle Bolt __|5/8" plywood 50 |1/4" Toggler - Snaptoggle BB - into 5/8" plywood 1.4 Ext. Pressure Coeff; GC,=-1.4(<60ft) -1.8(>60ft) Zone 5, 1 ft’ area, ASCE 7-16, Figure 30,31, 3051 _|otructure of sign and wall.
4 12 4 1/2"Sleeve Anchor [Concrete 190 [1/2" HILTI HLC-H or HLC-HX304SS3/8 Sleeve Anchor, 1.5" embed 0.85 Wind Direction Factor; K, = .85 for attached signs, ASCE 7-16, Table 26.6-1 By using this engineering sign installer
4 12 4 1/2"Sleeve Anchor |Grout Filled CMU 190 |1/2" HILTI HLC-}-! or HLC-HX304SS3/8 Sleeve Anchor, 1.5" embgd 0 Int. Pressul.‘e Coeff; GC,; = 0, sign flat against wall, _ ASCE 7-16, Sec 29.3.2 Jmanufacturer, and owner agree to:
1 15 10 3/8" Stud Epoxy Hollow CMU 50 3/8" thd rod stud in HIT-SC 16x50 screen tube, in Hollow CMU, Hilti 1.0 Topographic Factor; Kzt = 1 for flat ground, no hill, ridge, or escarpment >15"; = 2 for corners or edges 1. Select fastener from table based on wall
epoxy HIT-HY-270, or equal. 5|psf |Sign Weight; must be less than 5 pounds per sq.ft. net area. structure. 2. Install fasteners per fastener
" 3/8" thd rod stud in Concrete, Hilti epoxy HIT-HY-270, or equal. 2" manufacturer instructions in locations required
" 15 10 3/8" Stud Epoxy Concrete 50 embed. P K FLUSH MOUNT by sign manufacturer; this may mean mt?re
Stud Thru 1/2" Plywood 6o |?/16"Pin-stud, nut, and washer thru 172" plywood sheathing or 20ga. Jfasteners are required than shown in table. 3.
Sheathing metal building Make sure sign and wall meets building code,
Stud Glued Wall (test) 25 [3/16"pin-stud glued in wall, LIQUID NAILS FUZE-IT, LN-2000 sign code, and UL. Verify stated wind (speed,
IMPORTANT - Adhesives and toggles are strong but none have code approval for structural applications. Sign installer must test these 33— risk, exp, topg). sign (size, area, location on
I DON'T KNOW WHAT THIS WALL LOOKS LIKE OR connection strengths. Pull on fastener 2.5 * Allowable Tension. Use tripod, game scale, and hooks. wall, max weight), wall (materials and
HOW IT IS CONSTRUCTED BUT | ASSUMED THE construction).
SIGN IS LESS THAN 30' ABOVE GRADE, L 10-10" Y L
MOUNTED FLAT TO A NORMAL VERTICAL WALL,
NOT A FASCIA OR PARAPET, AND NO CLOSER ’I |
THAN 4' FROM ANY CORNER, ROOF, EAVE, — T T | T T |
CANOPY, SOFFIT, OR END OF WALL. SEE {
ARCHITECT'S OR SIGN INSTALLER'S ELEVATION | |I | PASTED IMAGES, DETAILS, DRAWINGS, AND
DRAWINGS FOR WALL DETAILS. [ - P | NOTES ON THIS SHEET ARE NOT
4 \ / 3 ENGINEERED OR REVIEWED.
| & . w | ) |
\\‘*a‘ {f‘ '/’) They were pasted in at customer's request
. | e L | to help relate fastener engineering to the job.
le ] i
’ &l | |
o | > {x\% | ?E Rrenlew:f Thrift Store QSUIE"ISME Hair Salo Florlda Slgn
= a0y e = AREES
% 2 N g ,f“ ) ! z 1838 Company
e e Tesla Supercharger
% | S B | I| | @ ’:Valmaf: Supercenter Phoe JOb # 220583
| . N— | || | nehaﬁmm: store
1 o | I— L —l 'Tr‘ir:eg‘lg!jgdon'l WALL SIGN
7 o Flat on wall max 12" thick.
INTERNALLY ILLUMINATED i_\ h Papa Johns Pizza
: ; Murphy Express
% Jyw/,;\ e T i ’3@ Walmart #0767
2 ! r M r 2767 W US Hwy 90
‘ ‘ ‘ INTERNALLY ILLUMINATED ~ 146.21 SF , WUS g g = @ Lake City, FL

eTD Bank s E - UNO valid for one sign each type at this location.



troy_crews
review stamp

troy_crews
Highlight


MARK DISOSWAY. PE
163 SW Midtown PI, Ste 103
Lake City, Florida 32025
386-754-5419

FLPE53915

THIS PDF HAS DIGITAL SIGNATURE
AND ELECTRONIC SEAL. PRINTED

COFIES ARE NOT COMSIDERED
SIGMED OR SEALED. YOU MUST

VERIFY SIGNATURE ON THIS POF.
CLICK HERE TO VERIFY,

5/13/2022

9sqft | 5saft | 95 saft [ 21 sqft | 45 sqft [ 28 ft* SIGN INSTALLER 1. Verify (ft?) (flush, raceway, or pin) (solid area or letters)
Stud Stud Stud Stud Stud Stud 2. Select fastener for wall structure. H H H H I
(otors) | otors) | o) | o) | s | ot |~ INSTRUCTIONS 3. Evaniy space fasteners over whele sign area. signengineering@gmail.com

> USE MORE FASTENERS IF THE SIGN NEEDS IT! ONLY ATTACH TO STRUCTURAL WALL MATERIAL (UNO). Shape and strength of N Tef ASCE 7-16
B Sign may require more fasteners. Example: *I" may need 2 fasteners, "J" - 3, "H" - 4, "W" - 5; and 1/8" thick plastic may need more Florida, FBC 7th Ed (2020), Sect 1609
£ " [fasteners to avoid bending. Follow sign urer's il ions and code requi for of fasteners. At least put one in wind
E “:_' leach corner top and bottom. Follow fastener manufacturer's instructions and code requirements for installation.
< ) . II, Normal hazard to human life; Ill, Substantial hazard to human life; IV,

ETS o s LN 3 IV,

s | s | 5|2 CALCULATION: Minimum Number of Fasteners 1 [Rick Catogory JEssenal cmergeny. il

n H

g o @ o : ko . 120 |Wind S d Basic Wind Speed, Ultimate, mph, from ASCE 7-16, Fig 26.5-1A, Risk II; or
5 S g g e E Evenly Spaced Over Whole Sign Ind Spee Fig.26.5-1B, Risk Il & IV
. ° = —wi ) .
> < I [e] = = ( Fasteners = Wind Force on Whole Sign Area / Fastener Allowable Tension ) ¢ |Exposure Wind Exposure; C, House size obstructions for > 600 ft; D, no obstructions
Minimum Fasteners for Whole Sign Fastener Wall Structure | Pull Fastener Installation > 5000
(Use More if Sign Needs It) 30 |Sign Height Sign Height Above Ground, ft, H; Sign cannot be higher than top of wall or
4 21 8 12 10 Stud Thru 1/2" Plywood 60 3/16"pin-stud, nut, and washer thru 1/2" plywood sheathing or 20ga. 9 9 60'. For multiple signs use worst case.
Sheathing metal building See Sign Area Gross Sign Area, ft?, means the overall area surrounding and including all
10 6 51 18 29 24 Stud Glued Wall (test) 25 [3/16"pin-stud glued in wall, LIQUID NAILS FUZE-IT, LN-2000 Table |>'9 sign letters and logos.
IMPORTANT - Adhesives and toggles are strong but none have code approval for structural applications. Sign installer must test these |WIND LOAD CALC: ASCE 7-16, Section 29.4.2, Solid Attached Signs
Jconnection strengths. Pull on fastener 2.5 * Allowable Tension. Use tripod, game scale, and hooks. Components & Cladding wind pressure on solid sign attached flat against wall or parallel to wall, < 3’ from

surface and > 3' from edge, equals wall wind pressure from ASCE 7-16, Section 30.4.

This seal for structural engineering per
scope of work (Fasteners only)

1 DON'T KNOW WHAT THIS WALL LOOKS LIKE OR See Table |Wind Force on Sign; F = P,sp * Net Sign Area SCOPE OF WORK
HOW IT IS CONSTRUCTED BUT | ASSUMED THE 5'-5" L -26[psf_|Wind Pressure; Pusp = Pult” 0.6 per ASCE 7-16 section 2.4.1 |ENGINEERING: Calculation of minimum
SIGN IS LESS THAN 30' ABOVE GRADE, T — -44|psf [Wind Pressure; Py = gu*GCy;  C&C, ASCE 7-16, Eq 30.3-1 |fasteners, ONLY. (See equation)
MOUNTED FLAT TO A NORMAL VERTICAL WALL, : 2 IX g XX| 31|psf [Velocity Pressure; g, = 0.00256°K,"K,"Ky*V2,;  ASCE 7-16, Eq 26.10-1
NOT A FASCIA OR PARAPET, AND NO CLOSER %, I:I g [L D’:J] N 098] |Veloc Pres Expos Coeff, K,=2.01"(H/900)\(219.5)ExpC, (T00811.5)ExpD; _ ASCE 7-16, Table 26.10-1 | Lhis seal IS NOT: architecture, electric, or
THAN 4' FROM ANY CORNER, ROOF, EAVE, ADDRESS SIGNAGE 14| |Ext Pressure Cosff, GC,=-1 4(<60f) -1 8(-60f) Zone 5, 1 2 area, ASCE 7-16,Figure 30.3-1, 3051 |etructure of sign and wall.
CANOPY, SOFFIT, OR END OF WALL. SEE 819 SF 0.85 Wind Direction Factor; K, = .85 for attached signs,  ASCE 7-16, Table 26.6-1
ARCHITECT'S OR SIGN INSTALLER'S ELEVATION - oot GC d_ N 9 SO 6‘ Sec2 3‘2 By using this engineering sign installer,
DRAWINGS FOR WALL DETAILS. 0 Int. Pressure Coeff; GCy; = 0, sign flat against wall,  ASCE 7-16, Sec 29.3. Jmanufacturer, and owner agree to:
1.0 Topographic Factor; Kzt = 1 for flat ground, no hill, ridge, or escarpment >15"; = 2 for corners or edges 1. Select fastener from table based on wall
5|psf |Sign Weight; must be less than 5 pounds per sq.ft. net area structure. 2. Install fasteners per fastener
147" manufacturer instructions in locations required
le STUD MOUNT by sign manufacturer; this may mean more
T s wie | 1 |fasteners are required than shown in table. 3.
] _| Make sure sign and wall meets building code,
}C) sign code, and UL. Verify stated wind (speed,
ij (’\ \,'P | 1 risk, exp, topo), sign (size, area, location on
k’ J.\ <\> | | — wall, max weight), wall (materials and
SRR /‘:\\ = [construction).
H N 1 .
r~ | 10 &
o o i hY
e =T
Ty _.:;\ \\ L 7 20.50 8F
(o \ | d
PASTED IMAGES, DETAILS, DRAWINGS, AND
e 8 s _wa  BES . sep . z=®os oy pa vl NOTES ON THIS SHEET ARE NOT
94 .90 SF 191 -q" b ENGINEERED OR REVIEWED.
They were pasted in at customer's request
to help relate fastener engineering to the job.
@
B =, | '_:!’
al - -
S 2 L/? 5 Renewed Thrift Store QSUIEﬂSty|E Hair Salo Florida Slgn
168" 3 { { s = Thrift store
i | AN "W z 162k Company
@Tesla Supercharger
. — ! —_— *HRSEE Walmart Supercenter Phoe JOb # 220583
"\ ,['\T FRe ] gOW L = o gfm Department stars
ES) | b VI; ol Y’ .\<)‘lr C:\. = = B Tire Kingdom WALL SIGN
& VoY 5\5_//\5) <‘£) [ U_/, e Flat on wall max 12" thick.
| Papa Johns Pizza
RS Murphy Express
44.44 SQ.FT Walmart #0767

Win Fasteners

WUS Haygg -~ 2

eTD Bank sm_

2767 W US Hwy 90
Lake City, FL

UNO valid for one sign each type at this location.




‘uoneoaoj siyj je adA} yoea ubis auo 1oy pijeA ONN
14 ‘“Auo aye

06 AMH SN M 2922

L9.0# Jew|epy

2143 . Z) Xew ||em uo je|q

NOIS TIVM

€850¢2¢ # dor

Auedwo9
ubig epuiol4

“qol ayj 0} Bunaaulbua Jausjse} ajefal djay o}
1s8nbal s Jawojsno Je ul pajsed s1em Ay

‘G3IM3IATY YO Q3YIINIONT
LON 3¥V L33HS SIHL NO S3LON
ANV ‘SONIMYYQ ‘STIV13a ‘STOVINI a3LSVd

*(uononusuod|

pue sjeusjew) [em ‘(Jybram xew ‘|[em|

uo uonedo| ‘eale ‘azis) ubis ‘(odoy ‘dxa ‘ysu
‘paads) puim pajels AJuaA "N pue ‘epod ubis|
‘ap0o2 Buip|ing s}@aw ||lem pue ubis ains ayel|
*¢ “3]E} Ul UMOUS UBL} palinbal o1e SISUS)SE)
910w Ueaw Aew siyj ‘Jainjoejnuew ubis Aq
pauinbai suonedo| Ul suondNIIsul JainjoeNuUBW

30ud

@
o
@
(]
=

& o

ojes ey u_.ﬂmim.,cwo alolg Yyl _u.Esw EH]

k1) [eay MN

45 629l

2]

=3

B OINY D [

Jaus)sey Jad siaua)sey ([ejsu] Z “aInjons|

|IEM UO paseq a|qe) ol Jaus)sey 199jes *|

em pue ubis Jo ainjonis
o1e *LON SI [eas SIyL|

10 ‘013098 ‘auNjo;

(uonenba 9ag) ATNO 'SIaua)SE]

"WNWIUIW O UCHEINS[e) "ONIYIINIONT|

MHOM 40 3d03S

(Ajuo siauajsed) jiom jo adoos
1ad BunigaulBua jeanjonays 1oy |eas siyl

"0 UONO8S 9}~/ JOSY W0l 8Inssaid puim [[em S|enba ‘ebpa WOl ¢ < PUE 80EpNS|

48 Go'v¢

rvn.

s3.04 pum
prm——"

W92

WS0-C

/ 7
-1 L W01 - .01 /|
AINNOW anlLs SNOIS ex o nm m_.|m ; N
=Y
eale Jau }ybs Jad spunod g uey) ssa| aq isnw ybiap ubig| sd|g mm: m R "
$06pa J0 S18UI02 40} Z = G| < Jualidieasa Jo ‘abpli ‘|jiy ou ‘punoib Jeyy Joj | =1z L0}k alydesbodoy | [ _’ n_Hm .—Vu
7'£6299S '91-, 305V 'llem jsurebe jey ubls ‘0 = 09 480D ainssaid | 0 1B - i b
1-9'9Z 9. '9}-2 308V ‘sublis payoene 1o} g' = Py 110joe UojoalId PUIM| S8°0 \._ [
1-G'0¢ *1-¢'0€ anbl4 '9}-/ 30SY 'BaIE J} | 'G 3U0Z (1)09<)8"}- (409>)y'-="09 H30D ainssald 3 ¥l 9
1-01'92 8I9eL '9)-2 308V 'qdx3(g11'8004) ‘0dX3(S°6/2)v(006/H).L0'2=") ‘190D S0dXJ S3id 90} 86'0
1-0192 b3 912 308V AL M.96200°0 =D ‘aunssaid Awoojen[ 4sd]re
1-6'06b3'9)-2 308 080 %09,"™b =""g ‘ainssaid pum| Jsd[p-
Vg U0joss 94-, 3OSV 2R 90 1ind = °7d *eunssaid pupm| 4sdfoe-
ealy ubIS JoN , 9574 = 4 ‘ubig uo 80104 puip| d[qeL 89S

W/l P -

SNOIS ¥X

W01

r48

I

'STIVL3A TIVM 404 SONIMVYYA

NOILVAITI SHITIVLISNI NOIS ¥O S, 1D3LIHOHY
335 "17¥M 40 AN3 ¥O ‘LI440S ‘AdONYI
‘IAVI ‘400Y "YINYOD ANV INOY4 ¥ NVHL
Y3S01D ON ANV ‘13dVY¥Vd YO VIOSV4 V LON
TVM TVOILYIA TVINYON V OL LV14 QILNNOW
‘30vY9 IN08Y ,0€ NVYHL SS31SINOIS

3JHL A3NWNSSY | LNF 31ONYLSNOD SI LI MOH

¥O DI SHOOTTIVM SIHL LVHM MONM LINOQ |

ceoz/eLs

AIIEIA OL JUIH HITH
"40d SIHL NO JHNLYNDIS AJIHIN

1SN NOA 037735 B0 dINDIS
Q3IYIqISNOI LON JHY 531407

J31INIdd "1¥35 IINOELIIT3 ONY
FHNLYNDIS TYLIDI0 $¥H 40d SIHL

Sl6esadid

6IV5-75.-98¢
520z¢ BpLO|d “AD e
£01 93 ‘Id UMOIPIN MS €91
3d 'AVMSO0SIA MUVIN

woJ} ¢ > ‘[lem o} a|esed Jo |lem jsuiebe jeyy payoeye ubls pijos uo ainssaid puim Bulppe|d B syusuodwo) "$}00y pue ‘a]eds aweb ‘podis) asf "UOISUS BIGEMO||Y , §Z JoUB}SE} Uo [Ing ‘syiBualls uondauuod|
subig payoseny pilos ‘Z'y'6Z Uo0as ‘9L-2 ISV 0TV AVOT ANIM| 2seuys 1se} ysnw sajejsul ubig “suoijesyjdde jeinjonuys Joy [eaoidde apod aey suou jng Buoss aie se|bBoy pue seaisaypy - INY1HOdII
-sobo| pue siepa| ubls eony ubia| 298L 0002-N°LI-3ZN4 STIVN QINOIT ‘Ilem ul panib pnis-uid, 91 /€| G2 (1s9)) llEM pan|o pnis 9 13 12 L 14
Jle Buipnjoul pue Buipuno.LINS Ba.e ||BJAA0 BU) SUBBW ;) ‘Baly UBIS SS0ID)! v IS EEIS Buipjing [ejow Buiyieays
- - ‘860z 10 B mA AU “prIsH 09 ki nyL pris 12 8 L S 14
aseo Jsiom asn subis ejdinw Jo4 *,09 BioH ubi eb(g Jo Buiyieays poomA|d ,z/| niy) Joysem pue ‘jnu ‘pnys-uid, 9L/ poomAld .2/l
10 ||em jo doy uey Jaybiy aq jouued ubis H ‘Y ‘punois) aroqy JybioH ubis: bIeH Is| o¢ (31 spaaN ubIs J1 810y @s)
uonje|jejsu| Jauajse. nd | ainjonng e Jauadjse
10005 < amsodx3| o ie3sul fausised 1Ind | 21M2NAs IEM 1sed ubig 9|OYM 10} SIBUB)SE WNWIUIN
SUOIONJISQO OU ‘Q ) 009 < 10 SUONINSAO 8ZIS BSNOH ‘D ‘ainsodx3 puipy (uoisua) sjqemo||y Jauajse / easy ubig aJoYp) UO 32104 PUI = SIduadjsed ) vonu W W w\w vnv ®w o =
AR 1l HSI ‘'81-5'92 Bl ubig alo de A v 5 5 S || 3
sadg pul, IS SJOYM J3AQ pPddeds AjudAg w35 g [} )
Jo {1 sy ‘V1-6'9g B4 ‘91-2 FOSV woy ‘ydw ‘sjewnin ‘peads puip diseg P S PUIM| 0z) n n " . o % 3 o o w pu._.. x
|eonuo ‘Aousbiaws ‘leyuassy Slaudjsed jo JaquinN wnwiulNl :NOILLVTNITVI N: o o ) 5 '
o . | AsoBored ysty| 1 [ Y 3 Q@ »
Al ‘}ij uBWNY 0} pJezey [enuelsqns ‘||| ‘el Uewny o) pIezey [BuLON ‘|| s 3 ® =
“uonejejsul 1oy w«:wr:wh_szg Bp0J puB SUONONJISUI S J8INJOBJNUELW JBUS)SE) MO||04 "WOROoq pue doy Jausod yoes| ﬂNv
puim Ul auo Ind se8| 1y "SIaUB)SE} JO 104 bai 8pod pue st s Jeur uBis mojj04 “Buipuaq ploAe 0} siaua)se)| vha )
912 308V Jo1 6091 1098 .AQNcNV P3 YL g4 .NU_._Q_H_ alow paau Aew onseld oI} ,8/L PUB G - M. ‘¥ - WH. ‘€ - u[. ‘'SIOUSISE) Z paau Aew |, :o|dwex3 ‘sieus)se) ajow alinbal Aew ubis|
10 yibuans pue adeys (ONN) TYRIILYIN TIVM TVHNLONYLS OL HOVLLY ATNO iLl SGIIN NOIS FHL I SHINILSV4 FHOW 3SN|
" ‘eaJe ubls 9|oYyMm 190 sioud)se) aoeds Ajuang ‘¢ (s1ep97) | (ssepen) | (siepen) | (siepen) | (sieper)
Eoo —_msm@mc _L mmc_mcmc m_m *24NJONJ}S [|eM 10} JaUd)Se) 93|98 T SNOILONYLSNI pmis pms pnis pnis pnis :
(s1910] 10 ease pijos) (urd Jo ‘Kemooes ‘ysny) () Auep -y HITIVLSNI NOIS J1G_|Wbs /) [1bs Gz |Wbs 0} | Wbs¢




8_L_ARCH_V20_Maileen.Ruiz8ARH8.rvt

ty_FL_18

C:\Users\Maileen.Ruiz\Documents\00767_LakeCi

4/14/2022 3:19:33 PM

3
£
SITE PLAN SITE SIGNAGE: EXISTING DISCLOSURES COLOR LEGEND ts |
: DEMOLITION NOTES SHEET NOTES S Beg g d
P# | COLOR NAME Lé HEs g
S22 88 i
/o\ . SIGN ORDINANCE: LAKE CITY, FLORIDA - CODE OR ORDINANCES CHAPTER 78 - SIGNS P49E | DARK GRAY 1. REMOVE EXTERIOR TENANT SIGNS. COORDINATE 1. PATCH AND REPAIR EXTERIOR WALL SURFACES, S Ece 3¢
= AND ADVERSTISING P76U | WALMART BLUE (URETHANE-LIKE) REMOVAL WITH WALMART CM AND TENANT PRIOR TO DAMAGED OR EXPOSED DUE TO REMOVAL OF BUILDING SEESE 31
«  MAXIMUM HEIGHT ALLOWED FOR PYLON AND MONUMENT SIGNS IS 18 FT. BEGINNING WORK. DELIVER REMOVED TENANT SIGNS MOUNTED ITEMS, TO MATCH ADJACENT AS REQUIRED.
PYLON 1 «  SIGN SHOULD BE INCLUDED IN CALCLUATION OF SIGN AREA (1.50 TIMES LINEAR LOT P134E | LIGHT GRAY TO TENANT. 2. REFER TO DETAILS ON SHEET A2.1 FOR SUBSTRATE AND Yy
FRONTAGE) FOR MAXIMUM SQ FOOTAGE ALLOWED. 2o | MEDIOM GRAY 2. REMOVAL OF BUILDING MOUNTED ITEMS, SHOWN OR FINISH REQUIREMENTS AT LOCATIONS OF BUILDING N
+ NO ADDITIONAL PYLON/MONUMENT SIGN CAN BE ADDED. 1 PER PROPERTY. - NOTED TO BE DEMOLISHED OR AS REQUIRED BY SCOPE MOUNTED SIGNS. NEE!
«  NO RESTRICTION TO HOW MANY BUILDING WALL SIGNS ARE ALLOWED. p162E | BLACK GRAY OF WORK, SHALL OCCUR PRIOR TO PAINTING BUILDING. 3. RESURFACE EXISTING EIFS WHERE SHOWN (HATCHED \&)ﬁq
MARKET « SIGNAGE CALCAULATED WITH BOX METHOD. COORDINATE DEMOLITION WORK SO EXTERIOR AREA). G\\) 4
+  MAXIMUM SQ FOOTAGE FOR BUILDING SIGNS ALLOWED IS INCLUDED IN THE | ook NSAFETY YELLOW PAINTING WILL OCCUR TO INSTALLATION OF BUILDING 4. NOT USED. g
CALCULATION OF SIGN AREA (1.50 TIMES LINEAR LOT FRONTAGE) MOUNTED ITEMS. 5. PRIOR TO PAINTING WALL AT LOCATION(S) OF LIT o &b
NO COLOR RESTRICTIONS FOR SIGNS. 1E | BLack ID/LOGO SIGN(S), COORDINATE SCOPE OF WORK WITH "\\xf
- RESTRICTIONS TO THE ADDITION OF ONE OR MORE SIGNS TOTALING APPROX. 100 SQ Q % T A P N N NN P TR A R G e \Q g
*WALMART FT. 140E | WHITE : : £
«  RESTRICTIONS WITH MODIFYING WALMART SIGN TO INCLUDE A BUMP OUT ABOVE THE - & FRAMES, DOWNSPOUTS, EXPOSED METAL FLASHING, \Q\E
PARAPET NO GREATER THAN TWO FT. A 1 A | HANDRAILS, AND EXPOSED MISCELLANEOUS STEEL TO
HOME & PHARMACY «  NO RESTRICTIONS WITH PROPOSED COLOR SCHEMES. N~ MATCH ADJACENT BUILDING COLOR. UNO. AT WAINSCOT
: SIGN COMPANY TO HOLLOW METAL STEEL DOORS & FRAMES TO BE
VERIFY LIGHTS ARE LED =
\ OOFTOP GAS PIPING (_PSE_JWHERE 2 wEl g,o 3
EXTERIOR WALL IS BEING PAINTED, GAS PIPE ALONG | BTo8T Eesrrz
OUTDOOR SIDE WALL TO GRADE SHOULD MATCH ADJACENT D | o5PzeBzobeEs
< PICKUP BUILDING. DO NOT PAINT METER OR VALVES. x| LuflfozFEcz28
SIGN CABINET COLOR 8. IF PAINTING ADJACENT WALLS PAINT CANOPY x | §35gpiuidezes
< AUTO CARE DURANODIC BRONZE - REF STRUCTURAL STEEL AND FLASHING TO MATCH 8 g s § g g % % E é é w % E
TABLE FOR CUSTOM COLORS ADJAGENT WALL. g | sEgriedzcegso
. = 002836 ¥x0s
T | ZEEffsgds, 0ot
— nmeszws X p &
YELLOW SPARK, > g%ﬁggg%@gag
= w im0 =s=s3
COLOR NS 12350 T NOT-0SED A D
12. DO NOT PAINT LED WALL PACK HOUSINGS
/1 FLEX FACE, COLOR 13. PAINT GARDEN CENTER STEEL DOORS AND FRAMES( P81E
PMS 285C BLUE 14. NOT USED.
AUTO CARE, TIRE, 15. NOT USED.
AWWVWWWW
OIL CHANGE WHITE LETTERS
WHITE LETTERS KEEP ALL EXISTING WHITE DOORS AS ETR WITH TOCHUPS
PYLON 1 AUTO CARE PYLON ALUMINUM CAN AS REQUIRED P140E IN HIGH CUSTOMER VISIBILITY AREAS
’ PAINT EXISTING POLE, COLOR
COLOR PMS 285C
BLUE DURANODIC BRONZE 0
=z
<
l_
5
[7p]
AUTO CARE PYLON SHERWIN-WILLIAMS CUSTOM z
DURANODIC BRONZE/ ORDER S
NUMBER 7248-0044642 g E%%IGMP(P)
-DURANODIC BRONZE MATCH " AL
BRONZE REF TABLE REE 16 A2 1 o
FOR CUSTOM COLOR BAC COLORANT: OZ 32 64 128 s 2
W1 WHITE - 43 -1 5
B1 BLACK 6 4 1 1 3‘9-_0-- Q 0 X
R2 MAROON - 19 -1 B pos
Y3 DEEP GOLD - 48 11 —— o™ o o ©
G2 NEW GREEN - 18 - -
ONE GALLON e === 0% I =
#B54T00104 . L~ 1} T NG
Ul TRADECP #796999993 e |£] ; N5
S QSR
oL
2
8 n ) " 9 L LJ— ] " L J— ] " — I ? g
3/16" = 1'-0 3/16" = 1'-0 3/64" = 1'-0 O‘:’)’% &
N
L | N
S w:i
N o
— NI
FENCING SHOWN IN DASHED LINES @ <E N®D
FOR CLARITY
1 1 CAP GARDEN CENTER FENCING SHOWN —
~OOF S 135E 6'-0" P134E CAP WITH DASHED LINES FOR CLARITY N
L} n A m
D 134E HOOD 126'- 0 CAP e P49E . 344" NEW SIGN REF 9 - A2.1 P134E HOOD /7 o
124"-0" P134E}— 2-8" TOM P134E P134E _ ; NEW SIGN REF 10 - A2.1 ‘ R
SToE v [P134) [P134E] ToM - P134E P134E 126'-0 =
122'-0" TOM - 7/ \ ‘ AN T L TOM z
: = i F TOM @
TOM o - Q
<) & - 1'-3' P134E
7 o
X — -/ Is \ / - =1 o
A // \ ] | 7
ﬂr ﬂ — ) T ISSUE BLOCK
. = o | } 1 | = : b ; N " =o o
100°-0 11 t.ﬁ AN N | _ ) 100'- 0 _j;z 1 [cCDo# 03/11/22
FFEL P135E P FFEL 2 |ccp#2 04/15/22
NEW SIGN (TYP)
TYP
GARDEN CENTER FENCING SHOWN WITH DASHED LINES REF 20 - A2.1
7 LEFT ELEVATION 6 )ser-ro O ) ser- 1o
3/64" = 1'-Q"
FENCING SHOWN WITH DASHED LINES FOR CLARITY
ROOF
CAP CAP HOOD /1 P134E
P134E P134E P134E P134E P134E}— P134E
!; 118' - 8" 1 . ) — i
TOM S , \ \Q // > \
il T T 710 T T T1T | . : CHECKED BY: ADM
\/"\/ L1 C
100" 0" il | | I I | i H e = DRAWN BY: JLGM/MR
FFEL NEW SIGN (TYP) PROTO CYCLE: 09/24/21
REAR ELEVATION REF 16 A2 ) -
4 A A A A A A A A A
3/64" =1'-0 NN AU A VAV
55!_3"
18'-5"
CAP
P134E
126'- 0"
FENCE SHOWN WITH DASHED LINES FOR CLARITY e = D, S = ] TOM
=== == =0 NEW SIGNAGE
ohp = e Al NOT FOR
126'-0" 124' - Q" = e 1 === P7eU
129' - 4" & A s e S S e i CONSTRUCTION
TOM L =T R e e e = == e - /
H — S —— == = o
P49E
$ 100! - Ou l | 100| = 0"
FF EL FFEL
3 3/64" = 1'-Q" 2 3/32" = 1'-Q"
1
PAINT P135ETO REMOVE ADDRESS
NEAREST NUMERALS AND PATCH FENCE SHOWN WITH DASHED
FENCE SHOWN WITH DASHED LINES FOR CLARITY CONTROL JOINT WALL AS NEEDED NEW ADDRESS TINES FOR CLARITY
REF 16 - A2.1 NUME <
CAP 20-0° 49-11" 129' - 4" L 48-7" 55 M 553" DY L L B L PC1§4PE
6" CAP CAP
1 " qE1 " P49E 1_qn CAP 1 g" {/ CAP 18 6 \, EQ % EQ \,
S 0-0 0-0 ToM EQ § EQ |, -3 P134E I L P134E) 7 £q € eq P134E P134E P134E 122~ 0" EN
=O =
TOoM / & = \\ ; P134E) P134E) TOM
Gite B & o R o'-7" iq? =© /
| - \ 1 : © 2 - \ | | _
_ AW ===t I : = : = : = EE [/ oo EXTERIOR
3 m g&zws%:;g = R o T 172 | — = E\I] 5 ) | | 1 //' W = :
Nl === . :IrT S e | 2t 1 0.0 | | ELEVATIONS
| Y i = I . i . i I i i ‘ I | _ | 100'-0 @
P135E P134E P76U 2 510E P49E ) P49E [P49E]J/ [P49E]—V P76UN—[P49E] P134E P135E P134E P135E A P134E FREL
e = —
NEW SIGN REF 8 - A2.1 NEW SIGN REF 4 - A2.1 P135E P135E NEW SIGN REF 2 - A2.1 A2 P135E P135E P135€)
SOFFIT NEW SIGN REF 3 - A2.1 SOFFIT NEW SIGN REF 7 - A2.1
NEW SIGN REF 5 - A2.1 EXISTING TENANT SIGN RESURFACE AREAS AS REQUIRED BY NEW NEW SIGN REF 6 - A2.1 RESURFACE AREAS AS REQUIRED BY NEW
SCOPE OF WORK (TYP) REF 16 - A2.1 AND SPECS SCOPE OF WORK (TYP) REF 16 - A2.1 AND SPECS
735-11"
1 RONT ELEVATION SHEET.
3/64" = 1'-Q" ﬂ 2




4/14/2022 3:19:35 PM

8_L_ARCH_V20_Maileen.Ruiz8ARH8.rvt

ty FL_18

C:\Users\Maileen.Ruiz\Documents\00767_LakeCi

SHEET FOR REFERENCE ONLY

SIGNAGE WILL BE SUBMITTED UNDER SEPARATE PERMIT

17

14

20

6

2'-0"
S
n
— c T N
o)
é \
EXISTING LIGHT
POLE
REF CIVIL PLANS | |
FOR SIGN
LOCATION
= B S s —| [ [ =]
1] ‘1‘ | ‘“_—1 {.| | —_‘ ‘ ‘— W=
— =y :n\__‘]. Lt S -

PICKUP BANNER AT EXISTING LIGHT POLE

1/ "_ 11_0"

THROUGH WALL
PROTECTION TUBE
FURNISHED BY WALMART
INSTALLED BY SIGN
CONTRACTOR PER MFR
RECOMMENDATIONS ——

LOCATE ANCHORS AND
WIRING/CONDUIT PENETRATIONS
PER SIGN ATTACHMENT TEMPLATE
PROVIDED BY WALMART

FULL BED OF MULTI-
COMPONENT SEALANT AT
PERIMETER OF CONDUIT BY
SIGN INSTALLER

IV

INSTALL LETTER BACK

/K

PRIOR TO INSTALLATION

BY SIGN INSTALLER

HILTI HPS 1/4" X 1 5/8"
SLEEVE ANCHOR
PROVIDED BY WALMART

Y=

VARV

AT EACH SIGN

CONNECTION POINT
INSTALLED BY SIGN
CONTRACTOR

INDIVIDUAL PLASTIC
ILLUMINATED CHANNEL

LETTERS BY SIGN
SUPPLIER

INSTALL LETTER FACES

W/ SET SCREWS, TYP BY

SIGN INSTALLER

SIGN ATTACT

N

SEALANT ALL AROUND

LOW VOLTAGE WIRE
INSTALLED BY SIGN
— CONTRACTOR

/f REMOTE POWER SUPPLY
ENCLOSURE PROVIDED BY
SIGN CONTRACTOR

+=— ELECTRICAL TO
JUNCTION BOX

HMENT BELOW ROOF LINE

11/2"=1-0"

1'-0" OIL CHANGE

1/ " 1!_0||

2

16"8"

\, 2!_6"

1'-0" TIRE

1/ " 1!_0||

2|_8I|

W
_ Wine & Spiri

LW

44.44 SQ. FT.

2'-0" WINE SPIRITS SIGNAGE

1/ "_ 11_0"

10

5

2"6"

=L XXXX

ADDRESS SIGNAGE

NOTE:

SQUARE FOOTAGE NOT
INCLUDED IN BUILDING
SIGNAGE SCHEDULE

ADDRESS

NUMERALS

18

1/ "_ 11_0"

REMOVE EXISTING EIFS
6" PAST AREA OF
SHEATHING REMOVAL

EXISTING METAL
STUDS (BEYOND) ——

EXISITNG SCHEDULE NEW SIGNAGE SCHEDULE
INDIVIDUAL INDIVIDUAL SIGNAGE GENERAL NOTES
SIGN QTY TYPE | LIGHTED COLOR SIZE AREA TOTAL AREA SIGN QTY TYPE |LIGHTED COLOR SIZE AREA TOTAL AREA
1. SIGNAGE FURNISHED BY WAL-MART AND INSTALLED BY OTHERS.
FRONT ELEVATION FRONT ELEVATION N | 2. ALL EXISTING WALMART EXTERIOR SIGNAGE IS TO REMAIN IN PLACE ON THE
WALMART * 1 | EXISTING | LED | WHITE/YELLOW 5-6"/8-0" 299.04 SF | 299.04 SF | |ADDRESS NUMERALS A NEW NQ _~VBUE - e AN e m e | BUILDING UNTIL THE EXTERIOR SIGN COMPANY IS ONSITE. THE EXTERIOR SIGN
HOME & PHARMACY 1 EXISTING NO WHITE 2'6" 94.90 SF 94.90 SF * WALMART 1 NEW LED YELLOW/WHITE [\~ 10-3" 146.21 SF, |  146.21SF )Y\ COMPANY WILL REMOVE EXISTING SIGNAGE AND INSTALL NEW SIGNAGE. ONCE NEW
<AUTO CENTER 1 EXISTING NO WHITE 2'-0" 33.95 SF 33.95 SF b HOME & PHARMACY 1 NEW NO WHITE e 9490 SF “9490SF | SIGNAGE IS INSTALLED, GENERAL CONTRACTOR WILL PERFORM PATCH, REPAIR, AND
LAWN & GARDEN 1 | EXISTING | NO WHITE 26" 58.35SF | 5835SF |-|VISION 1 NEW NO WHITE 16" 8.19 SF 8.19 SF PAINTING WORK NOTED IN PLANS AFTER NEW SIGNAGE IS INSTALLED
SPARK BOTTLES 1 EXISTING | LED YELLOW 3-6" 19.67 SF 19.67 SF OUTDQOR 1 NEW NO WHITE 20" 2050 SF | 2050 SF A. FOR STORES THAT REQUIRE STRUCTURAL MODIFICATIONS OR REPAIRS FOR
: : AA_A_A_A A U A AT A A TEAE A AL A RN oA Lo 0.0 2 2K INSTALLATION OF NEW EXTERIOR SIGNAGE, A TEMPORARY BANNER WILL BE
SPIRITS 1 | EXISTING | LED WHITE 1-6" 11.34 SF 11.34 SF | |<AUTO CARE SN N NEW. . NO_ | WHITE . 16" . 1625SF 1825 8F | INSTALLED BY THE EXTERIOR SIGN COMPANY PRIOR TO REMOVAL OF EXISTING
GROCERY 1 EXISTING NO WHITE 2'6" 41.05 SF 41.05 SF WINE &SPIRITS | 1, W L NO | o OWHITEL | 2-08 i | 4444 SF | 4444 SE 4| EXTERIOR SIGNAGE. BANNER WILL REMAIN IN PLACE UNTIL ALL MODIFICATIONS
* PICKUP 1 EXISTING | LED YELLOW/WHITE 2'6" 66.68 SF 66.68 SF MARKET 1 NEW NO WHITE 2'-6" 27.66 SF 2766SF | | g\ND/OR R%PAIRS HA(\)/E B%EN %OAS/I/PLETED SAND gEW SIGNOAGE és INSTAL(;EE()). GC
< T HALL PRIORITIZE MODIFICATIONS/REPAIRS REQUIRED FOR INSTALLATION OF
FRONT ELEVATION 8 624.98 SF F;'g,f? ELEV ATION: 9 ; NEW LED WHITE 26 40.88 SF A?iQ'*%Bg%E; NEW EXTERIOR SIGNS WHILE EXTERIOR SIGN COMPANY IS ON SITE
: : M, B. TEMPORARY BANNER WILL BE APPROXIMATELY 125 SF (5'X25').
AUTO CENTER C. EXTERIOR SIGN WORK NEEDS TO BE SCHEDULED, COORDINATED, AND
AUTO CENTER 1 EXISTING NO WHITE 2'-0" 30.74 SF 30.74 SF AUTO CENTER FRONT COMPLETED DURING WEEK 6 OF THE CONSTRUCTION SCHEDULE.
TIRE 2 EXISTING NO WHITE 10" 2.58 SF 5.16 SF AUTO CARE 1 “NEW. | NO WHITE. 2'-0" 38.65 SF 38.65SF | | 3. GENERAL CONTRACTOR RESPONSIBILITIES
LUBE 5 EXISTING NO WHITE e 2.08 SF 506 SF KUYO NUMERALS Y2375 V' V6 V1 VNEW V7 Y ND VT ¥ BIACKY V¥ Vog VIV eubF V7 B730SE ¥ [\ A. REMOVE EXISTING EXTERIOR BUILDING SIGNAGE AS NOTED ON SHEET A2.
AUTO CENTER 5 4186SF | /|TIRE 7 NEW NO BLACK 20" 233 SF T66SF /5 (LIGHTED ID/LOGO SIGNS WILL BE REMOVED BY OTHERS.)
: = X B. BY END OF FIRST WEEK OF CONSTRUCTION, REVIEW EXISTING CONSTRUCTION
TOTAL BUILDING 13 666.84 SE | OIL CHANGE 2 NEW NO BLACK 1-0 18.38 SF 36.76 SF WHERE SIGN(S) WILL BE INSTALLED. IF EXISTING CONDITIONS DO NOT MATCH
SIGNAGE AUTO CENTER FRONT: 4 11 117.57 SF SIGN ATTACHMENT DETAILS SHOWN, REQUEST APPROVAL FROM CONSTRUCTION
MANAGER TO SUBMIT RFI IN ACCORDANCE WITH SECTION 01255. NOTE
REAR ELEVATION DIFFERENCES IN CONSTRUCTION, INCLUDING DIMENSIONS, AND INCLUDE
o PHOTOGRAPHS FOR CLARIFICATION.
?ILFJ{TEO NUMERALS S, 6 g ng mg gtﬁgi f,_g,, ggg 2E 1426560:;: C. PROVIDE SUBSTRATE SUITABLE FOR INSTALLATION OF SIGNAGE. REFER TO
: : A DETAILS ON SHEET A2.1. FOR LIGHTED ID/LOGO SIGNS COORDINATE TIMING OF
REAR ELEVATION: 2 4 116 ]EA-b WORK WITH WALMART SIGN CONTRACTOR.
TOTAL BUILDING SIGNAGE 24 533.76 SF D. PROVIDE JUNCTION BOXES AND CIRCUITRY TO NEW "Walmart" and "spark"
LOCATE ANCHORS AND SIGNAGE. EXISTING (8) BOXES FROM "WAL«MART" SIGNAGE MAY BE REUSED.
WIRING/CONDUIT PENETRATIONS As EXISTING E. PROVIDE JUNCTION BOXES AND CIRCUITRY TO TENANT SIGNAGE LOCATION
PER SIGN ATTACHMENT / WATERPROOFING MEMBRANE SHOWN. REFER TO ELECTRICAL.
TEMPLATE F. INSTALL ACCESS DOORS AND FRAMES IN GYPSUM BOARD CEILINGS IF REQUIRED
3 BY RELOCATION OF EXISTING TENANT SIGNAGE.
PROVIDED BY WALMART - REMOTE POWER SUPPLY ENCLOSURE G. VERIFY VOLTAGE AT CIRCUITS FEEDING LIGHTED SIGNAGE. REFER TO
\ ELECTRICAL
LOCATE CONDUIT PENETRATION = | — SEALANT AT PERIMETER AND ANCHORS OF H. MAKE FINAL TERMINATIONS ON LIGHTED SIGNAGE
4'-0" MAX FROM UNISTRUT. ¢ REMOTE POWER SUPPLY ENCLOSURE 4. SIGNAGE CONTRACTOR RESPONSIBILITIES
PROVIDE ONLY ONE ROOF e A. REMOVE ALL LIT SIGNS UNLESS NOTED OTHERWISE.
PENETRATION FOR ALL WHIPS. B. FURNISH SPECIFIED CONDUIT FOR LIGHTED SIGNAGE.
— SIGNAGE CONDUIT FLASHING AT LOW VOLTAGE C. MAKE REQUIRED EXTERIOR WALL PENETRATIONS, INSTALL CONDUIT, AND SEAL
WIRE PENETRATIONS FURNISHED BY WALMART PENETRATIONS PER SPECIFICATION SECTION 07900.
INSTALLED BY GC PER MFR RECOMMENDATIONS D. INSTALL SIGNAGE PER DETAILS ON SHEET A2.1
THROUGH WALL

PRIOR TO PERFORMING THIS WORK, VERIFY EXISTING SUBSTRATE
MATERIAL. IF EXISTING SUBSTRATE IS CMU OR PLYWOOD (5/8"
OR THICKER), SUBSTRATE REPLACEMENT IS NOT REQ'D

PLYWOOD LENGTH PER SIGN SIZE
(TO NEXT AVAILABLE STUD)

6"
I

2'-6" AUTOMOTIVE

1!_6"

1/ " 1!_0||

/2

W
K Auto -

16.25 SF

1'-6" AUTO CARE

1/ "_ 11_0"

REMOVE EXISTING 1
SHEATHING IN SIGN S o
MOUNTING AREA (TO Wy
NEXT AVAILABLE STUD) O 1l
AND REPLACE WITH . % |5 Tu
5/8" EXTERIOR GRADE [ I o
FIRE-TREATED PLYWOOD | et | z
g i 1 . 14
INSTALL NEW EIFS WHERE | i
EXISTING EIFS WAS | 1.1
REMOVED - ENSURE FINISH P Ak
COAT IS FLUSH WITH 1o e LA IERE TRt e
ADJACENT RESURFACED o |
EXISTNGEFS — 1 .~ ” S Bl I fs H
RESURFACE EXISTING EIFS TO EXTENTS SHOWN =
ON BUILDING ELEVATIONS TO ENSURE CONSISTENT <
FINISH TEXTURE, REF EIFS SPECIFICATION -
1 6 3/8" = 1'-0"
A
MOUNTING HOLE
PATTERNS FOR NON- N REMOVE AND INSTALL
ILLUMINATED SIGN o> EIFS BY BUILDING
INSTALLATION PROVIDED oW GENERAL CONTRACTOR
BY WALMART x| REF SPEC
<< | L > d
>
PLASTIC MOUNT FOR ALL- N
THREAD STUD TYP BY
WALMART
INSTALL 1/8" DIA ALL- \ i INSTALL EIFS TO MATCH
THREAD STUDS INTO %% ADJACENT. FACE TO BE
PLASTIC MOUNTS TYP FLUSH WITH EXISTING
BY SIGN Bl EIFS BY BUILDING
CONTRACTOR GENERAL CONTRACTOR
3/8" DIA HOLE FILLED WITH
ADHESIVE SEALANT. COAT 0
ALL-THREAD STUD WITH x
ADHESIVE SEALANT PRIOR <
TO WALL ATTACHMENT TYP
BY SIGN CONTRACTOR
REPLACE EXISTING
PLASTIC NON-ILLUMINATED ,_./ \?VTFI—?E%I'NEGX¢EI§IEQ
SV'X?_R'A“AE{'}LETTER BY — PLYWOOD SHEATHING
BY BUILDING GENERAL
N CONTRACTOR
"ADHESIVE SEALANT" IS TO BE
PRODUCT LN-950 BY LIQUID
NAILS OR SIMILAR N ]
POLYURETHANE 0w o
CONSTRUCTION ADHESIVE, w d EXISTING
MEETING ASTM D3498 AND EE w METAL STUD
C557 STANDARDS, EXTERIOR > '&J / FRAMING
APPLICATION, WEATHER N
RESISTANT, LOW VOC, WITH A
MINIMUM SHEAR STRENGTH
OF 250 PSI A
1 3 11/2"=1-0"
T 12'-41/2 T
_ Ar = Fe EeE g Few . B = —
S
g Wl all@&
Ar P o Y
24.65 SF
] n
9 2'-0" AUTO CARE
1/ n = 1|_0l|
10' 10" 10| - 3" W
- Ly L,
V l |
o W — - = — — — — 7T 7 N
5 @ ﬁ {
are VUTCOOI -

20.50 SF

2'-0" OUTDOOR

4 14" = 10"

15

12

3

PROTECTION TUBE
FURNISHED BY WALMART
INSTALLED BY GC PER
MFR RECOMMENDATIONS

FULL BED OF MULTI-
COMPONENT SEALANT AT

PERIMETER OF CONDUIT *\ “

INSTALL LETTER BACK
PRIOR TO INSTALLATION \

HILTI HPS 1/4" X 1 5/8"
SLEEVE ANCHOR

PROVIDED BY WALMART

AT EACH SIGN

CONNECTION POINT
INSTALLED BY GC ———

/V

;HL

8" MIN\

CONDUIT

REF ELECTRICAL

LOW VOLTAGE WIRE

PENETRATIONS AND SEALANT

AT LOW VOLTAGE WIRE

CONDUIT TO PANEL BOARD

3/4" LIQUID TIGHT FLEXIBLE METAL

INDIVIDUAL PLASTIC
ILLUMINATED CHANNEL
LETTERS

INSTALL LETTER FACES

4
)
U

i——-____

W/ SET SCREWS, TYP

N

CONT SEALANT

PRE MOLDED PIPE FLASHING ATTACHED

PER ROOFIN

G MFR RECOMMENDATIONS

EXISTING ROOFING SYSTEM

SIGNAGE ATTACHMENT ABOVE ROOF LINE

11/2" = 10"

MOUNTING HOLE PATTERNS FOR

NON-ILLUMINATED SIGN INSTALLATION

PROVIDED BY WALMART

PLASTIC MOUNT FOR ALL-
THREAD STUD TYP BY WALMART

INSTALL 1/8" DIA ALL-THREAD
STUDS INTO PLASTIC
MOUNTS PRIOR TO SIGN
INSTALLATION TYP BY SIGN
CONTRACTOR

— s

3/8" DIA HOLE FILLED WITH
ADHESIVE SEALANT. COAT
ALL-THREAD STUD WITH
ADHESIVE SEALANT PRIOR
TO WALL ATTACHMENT
TYP BY SIGN CONTRACTOR

PLASTIC NON-ILLUMINATED
CHANNEL LETTER BY
WALMART

VARIES

"ADHESIVE SEALANT" IS TO
BE PRODUCT LN-950 BY
LIQUID NAILS OR SIMILAR
POLYURETHANE
CONSTRUCTION ADHESIVE,
MEETING ASTM D3498 AND
C557 STANDARDS,
EXTERIOR APPLICATION,
WEATHER RESISTANT,
LOW VOC, WITH A MINIMUM
SHEAR STRENGTH OF 250
PSI

<} EXISTING CMU

s My ;
M Ry
s sy
'//' -.Y.-
%
Y
P
g
/'\
.
N 5 ) i
ke sy
S N
I
o ™ A
o e
s A
k/=l e
A P
. % p
vl ot
3 4 _,v\_
Pas ,:
o ™
L, R
L g
W
-._,' )
<
\
A, . P
A s
N Ry
X pd
1
?
L) "
W
X,
<

SIGN ATTACHMENT AT CMU WALL

11/2"=1-0"

NOTE TO SIGN INSTALLER:

WITH PREDRILLED HOLES.

ALL PRIMARY MOUNTING HOLES MUST BE UTILIZED. IF MOUNTING THROUGH PRIMARY HOLE IS
OBSTRUCTED BY REBAR, METAL STUDS, CHANNELS, OR OTHER MISC METAL, SEAL PRIMARY HOLE IN SIGN
CAN AND MOUNT THROUGH THE NEAREST ALTERNATE MOUNTING HOLE. PRIMARY HOLES ARE INDICATED

NOTE:

ALL SIGN PENETRATIONS ABOVE
ROOF LEVEL MUST BE A CLEAR
MINIMUM OF 8" ABOVE DECK

14 15
A2.1 A2.1
L 12'-2" L
1 1
: € Pickup:
N - -

14|_7||

&
mac

2
4
]
|
|
|

|
.

94.90 SF

2'-6" HOME & PHARMACY

1/ "_ 11_0"

11

HILTI HLC-H 16X140/90 SLEEVE
ANCHOR PROVIDED BY WALMART
AT EACH SIGN CONNECTION POINT

2600 Maitland Center Parkway|

Suite #200
Maitland, FL 32751

P (407) 661-9100

D
Lothars 8 Botorson

Architects Engineers Planners

F (407) 661-9101

Florida Corporate Certificate #AA C600526

WWHW, lf, tom

STIPULATION FOR REUSE

THIS DRAWING WAS PREPARED FOR USE
ON A SPECIFIC SITE AT: LAKE CITY, FL
CONTEMPORANEOUSLY WITH ITS ISSUE
DATE ON 11/22/21 SUITABLE FOR USE ON A
DIFFERENT PROJECT SITE OR AT A LATER
TIME. USE OF THIS DRAWING FOR

REFERENCE OR EXAMPLE ON ANOTHER
PROJECT REQUIRES THE SERVICES OF
PROPERLY LICENSED ARCHITECTS AND
ENGINEERS. REPRODUCTION OF THIS
DRAWING FOR REUSE ON ANOTHER
PROJECT IS NOT AUTHORIZED AND MAY
BE CONTRARY TO THE LAW.

INSTALLED BY GC

1" NEOPRENE/SS BONDED
WASHER AND NUT IN BED OF
CONTINUOUS MULTI-COMPONENT
SEALANT PROVIDED BY WALMART
INSTALLED BY GC

3/4" SCHEDULE 40 PVC SPACER TO
PREVENT COMPRESSION OF EIFS

SIGN CAN WITH .080 ALUMINUM

BACKING BY WALMART
FULL BED OF \
MULTI-COMPONENT SEALANT

AT PERIMETER OF CONDUIT

WATERPROOFING MEMBRANE

| —— REMOTE POWER SUPPLY
ENCLOSURE

12" MIN

—— SEALANT AT PERIMETER AND
ANCHORS OF REMOTE POWER
SUPPLY ENCLOSURE

3/4" LIQUID TIGHT FLEXIBLE METAL
CONDUIT

SEALANT ALL AROUND

—— SIGNAGE CONDUIT FLASHING AT LOW
VOLTAGE WIRE PENETRATIONS. PROVIDED
BY WALMART INSTALLED BY GC.
REF INSTALLATION INSTRUCTIONS.

LOW VOLTAGE WIRE

12" MIN

THROUGH WALL PROTECTION TUBE
FURNISHED BY WALMART
INSTALLED BY GC.
INSTALL PER MFR
RECOMMENDATIONS

DRILL HOLE AND FEED WHIP
THROUGH PARAPET, TYP

3/4" SCHEDULE 40 PVC SPACER TO

PREVENT COMPRESSION OF EIFS ——

HILTI HLC-H 16X140/90 SLEEVE
ANCHOR PROVIDED BY WALMART AT
EACH SIGN CONNECTION POINT
INSTALLED BY GC

1" NEOPRENE/SS BONDED WASHER
AND NUT IN BED OF CONTINUOUS
MULTI-COMPONENT SEALANT
PROVIDED BY WALMART
INSTALLED BY GC

HILTI HLC-H 16X140/90 SLEEVE
ANCHOR PROVIDED BY WALMART AT
EACH SIGN CONNECTION POINT
INSTALLED BY GC

3/4" SCHEDULE 40 PVC SPACER TO
PREVENT COMPRESSION OF EIFS

FULL BED OF MULTI-COMPONENT

SEALANT AT PERIMETER OF CONDUIT — |

THROUGH WALL PROTECTION TUBE
FURNISHED BY WALMART INSTALLED
BY GC INSTALL PER MFR
RECOMMENDATIONS
PILL CABINET WITH .080 ALUMINUM
BACKING BY WALMART

1 1/2" EIFS ON SMOOTH FACE CMU
WITH MASONRY FILL INSULATION
TO ROOF DECK

NOTE:

LOCATE ALL-THREADS PER
SIGN ATTACHMENT TEMPLATE
PROVIDED BY WALMART

i

SEALANT AT LOW VOLTAGE WIRE
PENETRATIONS

PRE MOLDED PIPE FLASHING BY
ROOFING INSTALLER

8" MIN
PREFERED MOUNTING HEIGHT 3' TO 4' ABOVE ROOF SURFACE TOP OF PARAPET

N

.1

I
Mo N N NS N N N

~
EXISTING ROOFING SYSTEM

AN
3/4" CONDUIT TO PANEL

BOARD. \\
REF ELECTRICAL

N

STEEL JOIST
REF STRUCTURAL

NOTE:
PIPE FLASHING IS REQUIRED
FOR INSTALLATION ABOVE

% R\Ti LOW VOLTAGE WIRE

ROOF ONLY

REF ELECTRICAL FOR JUNCTION
BOX AND CONDUIT
INSTALLATION REQUIREMENTS

THROUGH WALL PROTECTION
TUBE FURNISHED BY WALMART
INSTALLED BY GC.

INSTALL PER MFR

RECOMMENDATIONS
| REMOTE POWER SUPPLY ENCLOSURE
TO JUNCTION BOX
REF ELECTRICAL
NOTE:
LOCATE CONDUIT PENETRATION
] 4'-0" MAX FROM POWER SUPPLY

ENCLOSURE. PROVIDE ONLY ONE

ROOF PENETRATION FOR ALL
WHIPS.

SIGN ATTACHMENT AT MAIN ID

1" - 1|_0||

11|_ 1||

2'-6" MARKET

et

27.66 SF

7 1/4" = 10"

/ _5; A
. Vision

1'-6" VISION

2 1/4" = 1'-0"

2!_1" ‘1|_2l|‘

e - - -
Walmart
INTERNALLY ILLUMINATED

10'-3" WALMART SIGN

NOTE:

ALL SIGN PENETRATIONS
ABOVE ROOF LEVEL
MUST BE A CLEAR
MINIMUM OF 8" ABOVE
DECK

|
|
-
|
|
|
|
|
|
|
|
|
|

146.21 SF

1/ "_ 11_0"

CONSULTANTS

Blmark S,

LAKE CITY, FL

188 PROTO SC

2767 W US HIGHWAY 90
2210335 | PROTO:

STORE NO: 0767-247

JOB NUMBER:

ISSUE BLOCK

1 |CCD#1

03/11/22

2 |CCD#2

04/15/22

CHECKED BY:

ADM

DRAWN BY:

JL/ING/MR

PROTO CYCLE:

09/24/21

DOCUMENT DATE:

11/22/21

NOT FOR
CONSTRUCTION

EXTERIOR
DETAILS AND
SIGNAGE

SHEET:

A2

1




Front-Lit Plex-Face GEMLITE ILLUMINATED LETTER FLUSH MOUNTED o

CHANNEL LETTER - TYPICAL SECTION - FRONT-LIT PLASTIC FACE
ES0000193
n Charles Ogle
SECONDARY
WIRING
PRIMARY ELECTRICAL—ggmmummmmmmmmmifo
(NEC 600-5)
CONTROL BOX
W/ POWER SUPPLIES
(SEE DETAIL BELOW) DISCONNECT
TOGGLE SWITC LED ILLUMINATION
H DISCONNECT
FASTENERS AS REQUIRED TOGGLE SWITCH
FOUR PER LETTER
ATTIC D
SIDE
FASCIA
120V Primary System - Low Voltage Secondary LISTED
N.T.S.

PS12-180w-100/277v-30

L The su Nghts s
14
&
PS12-180w-100/277v-30 @ q 4
LB
1]
0oe000e00]) & t

PS12-180w-100/277v-30

|
o]
&7

®6

Z

|

Walmart =< Sign Shop



ES0000193
Charles Ogle



	S1.pdf
	S2.pdf
	S3.pdf
	Sign Design and Description Details 20220614 100428.pdf
	Sheets
	A2 - EXTERIOR ELEVATIONS
	A2.1 - EXTERIOR DETAILS AND SIGNAGE


	Sign Design and Description Details 20220614 100402.pdf
	Sheets
	A2 - EXTERIOR ELEVATIONS
	A2.1 - EXTERIOR DETAILS AND SIGNAGE


	Other 20220614 100652.pdf
	Page 1


